FXBELE T

[%£%:]): TWUL108063 [4#4A14#5):3.10.99.77 % 01 =

(A4 ] BRAHAE -

(BRI EL] : THRGI ST ERL M B 1221 3 -

(FPXRAGLBRABERE) "109 FE T esbnphesd -

[(Zeh5 8] S5 849 - B TRMmS -

[REHEAGHRIWTZIRE]: F -

[ A(REM)]: B RmE T -

[m45 A E3E]): 05-5370988 & 2443 -

[teg A2 A ) 05-5342907 -

(B4R Am]): FaRZRE 108412411 8 178500 4 -

[&abdcHAm): rPERZRB 1084512 A 11 8 17800 &4 -

[rAiZa#] - KRB I1084E12AH 128 14800 4 -

[FAAR3bEE] @ EARE WA R B4 1221 38 5 F73%4E MB103

[B#EE]: ZHi -

[Esim]): BB HEH -

[(#3%B8i)]: RE 108411 A 288 -

[FrB#]l: & A B-

CARr ] @R @ @3TA KR 3 @FFRBAAR -

[ pR)] MAREE

[ EREE)] BRI ARTHREN B2 BA T

(=) BB BRERBIZEA -

(=)~ B aRzER -

(2)~ BrEfRE Bt ) - R AR YRR AT B T8 79448 B 2038 U4 R e
JE R I U AR T E E o FR M B AL A ROl R4 0 AR A R R AR
BAEERAUIFRS(RAHRES):

1. Brocade BCNE/BCNP 4= —f3r 323 T #2687 -
2. Microsoft MCSE/MCDBA/MCITP % 54— L33 T 4267 o
3. NetApp NCSE/NCSIE/NCIE/NCDA/NCSA % FJ4E — L2235 T2 bF o
4. Red Hat RHCA/RHCE 4£ — 303 T 42 65 o
5. VMWare VCP/VCI %4 5|4 — B3R T 4265 o
6. SUN SCSA/SCNA {£ — L33 % T 42675 -
MM ERARCREMMERERIANEE—FHRETE > Ul F4hE S
B oo WA R RO AR A A B %R AR B2 E R 0 o sk B 29 4
BRA|AEAER 0 BIUHIFAZEWR -
[424Z 4R 7 X A sbgs ]
(=)~ BAARTIIA > REARBE
13 BARER - N ERIARAT > BN AR PN ZAROHRREREHREEE4
Eg{ o
2ERRARTR N EAZHA TR AT AR B S T2 A RS H EH EHZ R E 445
TR RN BF AT EHFHEREESH > RFEHF -
(=) ~ bkt 640 EHE AT EREHEEE 122] ABAEH AL T H -
[BEXHEBEMAHRFTA]:
1. BAZ XA % AR
(friR &AL H& ¥ 43,000 T -
[H4e]): RBARF R AW BRH AR IR E TR 05-5370988 i 2900 & & Rk % - k4T
BREOBAMBMBRNERTEE DB R LR ZYHEL -

¥



